
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/Jun22/1 All prices exclude GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 

AUSSIE GMP PUMPS:  

Position 
Number 

Part  
Number Qty Description 

List 
price 

02 5679 1 Impeller G 1081/2B (5.5kW) $825 

02 6027 1 Impeller G 1081/2C (7.5kW) $825 

03 L306 1 Flange seal holder $450 

04 L297 1 Support B 2951/1 $591 

05 5076 1 Stub shaft $440 

06 6353 1 Counterface 27-50-10  $32 

07 8404 1 Mech. Seal 25-47-14  $285 

08 6030 1 Flex. Gasket B 2587 1mm $13 

09 7726 1 Copper washer D.8 4x14x1.6 $2 

10 7674 1 Screw UNI 5931 M8x25 $8 

11 6178 1 Washer D.12-28-4 $6 

12 F476   Impeller nut M12 x 1.75 $8 

13 6243 4 T.E. Screw M 12x25 uni 5739 $7 

14 6330 1 Key B 6x6x20 UNI 6604 $6 

15   2 Screw UNI 5931 M8 x 25   

16 F084 4 Screw UNI 5739 M14x45 $6 

17   4 Nut UNI 5588 M14   

18   4 Washer UNI 6592 D.10, 5x21x2   

19   4 Screw UNI 5739 M10x35   

20   1 Base   

21 H776 1 Motor 5.5 kW – 400/690V.  POA 

21 H795 1 Motor 7.5 KW 400/690V POA 

B3XR-A/ST 5.5kW & 7.5kW ELECTRIC MOTOR  
Cat EANH & EANL  
 

REJUVENATION KIT  …  
SAVE ON BUYING INDIVIDUAL PARTS 

GREJK-B3XR-ST3P 
(R518) 

Includes check valve, mech seal, 
counterface, gaskets (items 
highlighted yellow) 

$329 

Position 
Number 

Part  
Number Qty Description 

List 
price 

01a 5577 1 Pump Body B3XR-A/ST  $2,400 

01b 8925 1 Valve B3XR-A/ST  $492 

01c 8931 1 Inspection Door  $130 

01d 6014 1 Complete check valve $96 

01e 8937 2 Gasket Door B3XR-A/ST  $20 

01f 6186 1 Flex washer 33-39-2 $2 

01g 6213 1 Conical Tap 1” Gas  $8 

01h 6209 1 Conical Tap ¼” Gas  $7 

01i 6263 5 OEB Screw M 10x30  $3 

01l 9468 1 
HEX Socket Set Screw UNI 5923 
M10 x 55 

$11 

01m 8975 2 Complete Pin M10  $58 

01n H796 3 S/s Screw M5 x 10  UNI M5x10 $5 

01p H750 1 Complete Wear Disc  $159 


